3.  New Delhi
4. Nasik
Correct Option - 4

Que. 7 Who appoints Attorney General of India?
1. Governor
2. Chief Justice of Supreme Court
3. Prime Minister
4. President
Correct Option - 4

Que. 8 Which of the following rivers originate from 'Amarkantak'?
1. Betwa

2. Narmada
3. Mahanadi
4. Godavari

Correct Option - 2

Que. 9 Upper House of the Indian Parliament is known asthe __ ?
1. Lok Sabha
2. Vidhan Paridash
3. Rajya Sabha
4.  Vidhan Sabha
Correct Option - 3

Que. 10  Who was the author of the book My Experiment with Truth?
1. Mahatma Gandhi
2. TaraAli Beg
3. Maulana Abul Kalam azad
4. Govind Vallabh Pant
Correct Option - 1

Que. 11  Who among the following is often referred to as 'Black Pearl'?
1. Pele
2. Venus Williams
3. Maradona
4. Serena Williams
Correct Option - 1

Que. 12 Who was the founder of Brahma Samaj?
1. Raja Ram Mohan Roy
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2. Swami Vivekananda

3. Dayananda Saraswati

4. Jyoti Ba Phule
Correct Option - 1

Que. 13 Which of the following is known as roof of the world?
1. Pamir Mountains
2. Mount Everest
3. Shivalik Mountain Range
4. Alps
Correct Option - 1

Que. 14 The Gateway of India is located in:

1. Kolkata
2.  Delhi
3. Mumbai

4. Bengaluru
Correct Option - 3

Que. 15 Who conducts the elections of Lok Sabha in India?
1. Election Commission
2. Union Public Service Commission
3. Parliament
4. Delimitation Commission
Correct Option - 1

Que. 16 Which of the following is a non magnetic material?

1. Iron
2. Nickel
3. Cobalt
4. Tin

Correct Option - 4

Que. 17 Measure of Frequencyis _ ?
1. Meter
2. Second
3. Hertz

4. Newton Meter
Correct Option - 3

Que. 18 The process of rusting of iron is called ?
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1. Reduction

2. Galvanization

3. Absorption

4.  Corrosion
Correct Option - 4

Que. 19 The red colour of human blood is due to ?

1. Mayoglobin

2. Immunoglobulin

3. Heptoglobin

4. Haemoglobin
Correct Option - 4

Que. 20 Clouds float in the atmosphere because of their

1. Low Temperature
2.  Low Viscosity
3. Low Pressure
4. Low Density
Correct Option - 4

Que. 21 Fish breath through

1. Lungs
2. Gills

3. Eye

4. Skin

Correct Option - 2

Que. 22 One Horse Power =
1. 546

2. 746
3. 846
4. 648

Correct Option - 2

Watt?

Que. 23 L.P.G. is a hydrocarbon consisting of a minute of

1. Ethane and Propane

2.  Methane and Butane

3. FEthane and Butane

4. Propane and Butane
Correct Option - 4

?
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Que. 24 The quantity of blood in human body is ?

1. 14%
2. 7%
3. 1%
4. 90%

Correct Option - 2

Que. 25  After digestion, Protein is converted into ___ ?
1. Glucose
2. Sucrose
3. Fat
4.  Amino Acid
Correct Option - 4

Que. 26 Main organ of respiratory system in human bodyis __ ?
1. Lung
2. Kidney
3. Skin
4. Heart

Correct Option - 1

Que. 27 The basic unit of lifeisthe __ ?
1. Organ
2. Organelle
3. Tissue
4. Cell

Correct Option - 4

Que. 28 Typhoidiscausedby _ ?
1. Virus
2. Protozoa
3. Bacteria
4. Protein
Correct Option - 3

Que. 29 The disease caused by the bite of a mad dogiscalled _ ?
1. Dengue Fever
2. Cholera
3. Malaria
4. Rabies

Correct Option - 4
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Que. 30 Photosynthesis takes place in
1. Roots of the plants
2. Green parts of the plants
3. Stems of the plants
4.  All parts of the plant
Correct Option - 2

Que. 31 Aand B can do a piece of work in 12 days, C and A in 20 days and B and C in 15 days, then in how
many days will they finish it working together?

1. 15 days
2. 5days

3. 20 days
4. 10 days

Correct Option - 4

Que. 32 Find the area of a circle made of 1 mtre wire?

L. 796 cm?
2. 79545 cm?
3. 799 cm?
4. 798 cm?

Correct Option - 2

Que. 33 In the radius of a tyre is 7 cm, what distance will it travel in 50 rotations?

1. 7 meter
2. 50 meter
3. 22 meter
4. 44 meter

Correct Option - 3

Que. 34 Average salary of 20 workers in an office is Rs. 1900 per month, If manager's salary is added, average
becomes Rs. 2000 per month. Find manager's salary?

1. Rs. 4600
2. Rs. 2400
3. Rs. 4000
4. Rs. 2220

Correct Option - 3

Que. 35 Find the volume of a circular cylinder whose height is 15 cm and radius of the base is 7 cm?

1. 2510 cm®
2. 2310 cm?
3. 2410 cm?
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4, 2210 cm’
Correct Option - 2

Que. 36 [fthe area of a rectangular region is 560 cm? and one of its side is 20 cm then find its perimeter?
1. 97cm
2. 85cm
3. 9 cm
4. 98 cm

Correct Option - 3

Que. 37 The radius of a circle is 28 m. Find its area?

L. 2464 m?
2. 2394 m?
3. 2828 m?
4. 2586 m?

Correct Option - 1

Que. 38 Prashant incurred a loss of 75% on selling an article for Rs. 6800. What was the cost price of the

article?
1. Rs. 29000
2. Rs. 27200
3. Rs. 21250
4. Rs. 25600

Correct Option - 2

Que. 39 Fill in the blank from given options:- 39, 41, 43, 45, (_ ).

1. 51
2. 47
3. 53
4. 49

Correct Option - 2

Que. 40 Find the least number which must be subtracted from 175 to make it a perfect square?

1. 3
2. 2
3. 6
4. 7

Correct Option - 3

Que. 41 A number increased by itself and 5 gives 17, the number is ?
L. 3
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2. 6
3. 5
4. 2
Correct Option - 2

Que. 42 A motor cycle covers a distance of 140 m in 18 seconds. Find its speed per hour in kms?
1. 32 km/hr

2. 24 km/hr
3. 18 km/hr
4. 28 km/hr

Correct Option - 4

Que. 43 In a music school, 70% students are boys. If the total girls are 255 then find out the number of boys?
1. 595

2. 850
3. 540
4. 575

Correct Option - 1

Que. 44  If the product of the numbers is 4725 and their HCF is 15. What will be LCM of these number?
L. 180

2. 345
3. 315
4. 265

Correct Option - 3

Que. 45 What is the greatest number that divides 30, 53, 99 to leave the same remainder?
1. 19

2. 13
3. 21
4. 23

Correct Option - 4

Que. 46 The average of three numbers is 27. The second is three times the first and the third number is five
times the first. What is the sequence of the numbers?

1. 27,9,45
2. 9,27,45
3. 24,8,40
4. 8,40,24

Correct Option - 2

From the given options fill the missing number in the sequence: 1, 9, 25,49, (_ ), 121.
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Qule.47 64

2. 100
3. 91
4. 81

Correct Option - 4

Que. 48 A man walks 1 km towards East and then he turns to South and walks 5 kms. Again he turns to East
and walks 2 kms and then he turns to North and walks 9 kms. How far is he from his starting point?

1. 7kms
2. 4 kms
3. 3 kms
4. 5kms

Correct Option - 4

Que. 49 IfPALE is coded as 2134, EARTH is coded as 41590, how will PEARL be coded?
1. 23145

2. 24153
3. 25430
4. 29530

Correct Option - 2

Que. 50  Arun said, "This girl is the wife of the grandson of my mother". How is Arun related to the girl?
1. Father

2.  Husband

3. Father-in-law

4.  QGrandfather
Correct Option - 3
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